


example:



So a node can only get one left child. By symmetric argument, only one right child.

Maintain invariant: if x is left of y in the list, then all nodes in subtree(x) 
     have smaller indices than all nodes in subtree(y).
This is true initially.
A single link preserves this, so always true.
From this property it follows that the trees created by link have search tree property.

need to show: y will not get another left child.
This is true, because z<y, so z can never be a local max (as long as y is there), 
so it will not be linked to y. When y is gone, then it cannot get left children anyway.


